
Section 1: Overall structure of attacking exam questions
Question 1: Can Π make out a prima facie case for the tort in question?


Answer: 
No. (then there’s no liability)




Yes. (then move to question 2)
Question 2: Are there any good affirmative defenses?

Answer:
No. (then there is liability)




Yes. (then there’s no liability)
Question 3: Are there any general considerations to discuss?

Example:
Vicarious liability

Most exam questions will involve several torts, multiple Πs, and multiple ∆s.  It’s best to start by making a checklist of all the torts in question, addressing who the Π is and who the ∆ is.  From there, work through questions 1-3 for each tort.  Begin with a brief introduction which lays out all the possible torts, and conclude with an answer re: ∆’s liability.  The discussion is the most important part of the answer; it won’t really matter if the final conclusion is “right” or “wrong.”  

Sidebar exam notes:

Top three fact patterns:

1. The “super sensitive Π”: remember, the Π’s sensitivities don’t count unless the ∆ knew about them.  Always deal with the Π as the reasonable person.

2. The” incompetent ∆”: the young child, the old person, the drunk guy.  Everybody is liable for their intentional tort.  Everyone.

3. Transferred intent doctrine: Intent can be transferred person ( (  person and tort ( (  tort (i.e. intended assault, but action resulted in assault and battery)

There are NINE possible torts to choose from: 7 intentional torts, negligence, and strict liability…
Section 2: Intentional Torts

A. Intent –  brings about harm either purposely (w/desire to bring about that harm) or knowingly (substantially certain).  What is substantially certain?  This is a jury question we think…intending the necessary consequences of the act (i.e. 100% of substantial certainty approaches desire to bring harm)

1. RTT §1

2. Tranferred intent – intention on the part of the ∆ to hit somebody and inflict an unwanted injury upon someone (w/in scope of battery).  Happens among the battery, assault, false imprisonment, trespass to land, trespass to chattels as long as the intent is direct and immediate

Trespass to person:

I. Battery

A. Harmful or offensive contact

1. Unpermitted contact (within the reasonable person standard)

B. With Π’s person

1. Anything connected with Π’s person

a) Not required to be the actual body

C. Elements
1. Intent

a) To Harm (might or might not be necessary)

b) To Offend (questionably necessary)

c) To Make the Contact (absolutely necessary)
2. Action

a) Physcial harm

b) Non-physical touchings that are non-consensual

3. Cause

a) Direct

b) Proximate

4. Harm

a) Physical

b) Hostile, offensive or insulting (“ptooey!”)

5. Cases:

a) Vosburg v. Putney

b) Garret v. Dailey

c) Talmadage v. Smith

d) Brown v. Dellinger

e) Mohr v. Williams

f) O’Brien v. Cunard

g) RST §18

II. Assault

A. Apprehension 

1. Must be reasonable

2. Not fear or intimidation

a) Simply apprehension of the unpermitted contact
3. Apparent ability must clearly create reasonable apprehension

a) i.e. the unloaded gun pointed at Π will still be an assault if ∆ causes Π to feel apprehension of being shot
b) Is actual ability available?  It doesn’t matter ( still concerned solely with reasonable apprehension

B. Of an immediate battery

1. Need immediacy (cannot be from across the room)

2. Words alone are not enough

a) Must be coupled with conduct
3. Words can undo conduct

a) Erase reasonable apprehension

b) i.e. “I would do this, but I won’t”

C. Elements – apprehension of a battery

1. Act, intent, cause, harm

2. ∆ must intend to commit an intentional tort, not necessarily a battery.  The intention could be the assault on its own

3. Limitations

a) Not just words

b) Action has started and on the way

c) Needs to have immediacy

4. Cases:

a) I. de S and Wife v. W. de S – “Harmful” hatchet

b) Tuberville v. Savage 

c) Allen v. Hanaford 

d) RST §§ 21, 24

III. False Imprisonment
A. Sufficient act of restraint

1. No hard and fast rule – common sense analysis

2. Threats are enough; don’t need actual application of force

3. Inaction can qualify if there is an understanding that the ∆ would do something

a) Emily’s boat case

4. Not necessarily express, just implied
B. Π must be aware of confinement at that time
1. Exception – if Π was injured at that time (even though unaware) it is still sufficient
C. Bounded area

1. Hemmed in – no freedom of movement in any direction

2. Inconvenience doesn’t count

3. Area is not bounded if:

a) There is a reasonable means of escape, and

b) Π knows about the escape route
D. Elements

1. Intent – to imprison (to know the other person can’t get out)

2. Act – the imprisonment itself

3. Harm – person needs to know that they can’t get out

a) Coercive – mental, physical, circumstantial, etc.

b) If unconscious the whole time and no physical harm, then no tort


c) Momentary knowledge of imprisonment

4. Finding a reasonable way out ends the imprisonment

5. Cases

a) Bird v. Jones 

b) Whittaker v. Sanford 

c) RST § 36

IV. Intentional Infliction of Emotional Distress (I.I.E.D.)
A. Outrageous Conduct

1. Must be truly (truly, truly) outrageous

2. Conduct that the average person in our friction filled world would not expect

3. Sometimes conduct can become outrageous

a) Continuous over long period of time (i.e. insulting someone 24/7 for months)

b) Type of Π (i.e. insulting a very young child, an elderly person, or a pregnant woman)

c) Type of ∆ (i.e. common carrier or innkeeper)

(1) held to higher standards
(2) Must also be the right Π (i.e. passenger or guest, not just a third party)

4. Usually courts use this if Π can’t make out prima facie case for another tort

B. Elements:
1. The “Oh wow!” test

2. Cases

a) Wilkinson v. Downton – practical joke that husband was injured

b) RST § 46

C. Damages

1. Only intentional tort to person which requires damages

2. Substantial emotional distress

3. Words alone do not have requisite immediacy

Trespass to Property:

V. Trespass to Land 

A. Act of physical invasion by ∆
1. Not necessary for ∆ to personally go onto the land
a) Pushed onto land, etc. counts
2. But it is necessary that some physical object enters the land
a) Noise doesn’t count
B. On Π’s “land”
1. More than merely surface of property
a) Includes the reasonable space up and down
(1) Throwing baseball over someone’s property is theoretically a tort (in the real world, the case wouldn’t fly, but in an exam, it would)
C. Trespass to Real Property
1. Must be direct, immediate and by some tangible or visible agent

2. Doesn’t have to cause actual harm

3. Cases – Brown v. Dellinger 

VI. Trespass to chattels

A. Some damage done by ∆’s act
1. Physical damage (just a scratch)
2. Dispossession (for a short period of time)
B. Intentional interference

1. Damage

2. Alteration

3. Destruction

4. Unpermitted use or movement

5. Depriving possessor of possession

6. Conversion – so serious as to justify forcing the ∆ to buy it.

7. Liable for damage to chattel as well as physical bodily harm to the plaintiff (stealing someone’s medication, for example)

VII. Conversion

A. Lots of damage done by ∆’s act
1. Physical damage (destroyed)
2. Dispossession (for a long time)
Section 3: Defenses to Intentional Torts
I. Consent
A. Π must have capacity
1. Young children ( not capable

2. Mental incompetents ( not capable

B. Was consent express or implied?
1. Express – words were used

2. Exceptions:

a) Mistake

b) Coercion

If enough, express consent disregarded

c) Fraud

C. Circumstances (consent in law – law gives the privilege)
D. ∆ did not exceed apparent boundaries of the consent given

E. Cases

1. O’Brien v. Cunard 

2. Mohr v. Williams 

3. White v. Univ. of Idaho

4. Allore v. Flower Hospital

II. Insanity is not a defense 

A. McGuire v. Almy 

B. Assumption of risk is not a defense of intentional torts

III. Defense Privileges: Self defense, Defense of others, Defense of property
A. Timing test

1. Tort is now occurring
2. Tort is just about to occur
3. Not if tort has already occurred!
a) Exception: Hot pursuit doctrine: legal fiction; tort regarded as still occurring

B. Defense test

a) Reasonable belief that a tort is being committed

b) Doesn’t require that ∆ is correct

c) Duty of self retreat? 

(1) Not necessary that ∆ retreats before defending

(2) There is a duty to retreat if:

(a) It can be done safely

(b) Not in ∆’s home

(3) Only applicable if ∆ has to use serious force to defend herself

C. Rule of proportionality

1. Must use right amount of force

2. In self defense and defense of others = reasonable force (could include deadly force if lives are in danger and it is reasonable under the circumstances)

a) In defense of property = reasonable force (never deadly or serious bodily force; right to property isn’t that strong)

b) Unless ∆ is in own home, in which case it becomes defense of self and others

D. Self-defense – it is a defense

1. Rule of proportions – you may only use reasonable proportional force of person who’s attacking you

E. Defendant must prove or plead, not the plaintiff

F. Cases

1. Courvousier v. Raymond 

G. Defense of others – is a defense

1. good Samaritan

2. Same rules of proportionality more or less as self-defense

H. Defense of property – is a defense

1. Rule of proportionality

2. Bird v. Holbrook – spring guns, tulip bulbs and pea hens

3. RST §85

IV. Necessity
A. Only applicable in property torts
B. Public necessity

1. Absolute unlimited privilege

C. Private necessity

1. Very limited number of people

2. Limited privilege; ∆ liable for damage

3. Prevails over defense of property

D. Ploof v. Putnam – sailboat in the storm (aka “get off my boss’ dock!)

E. Rule of proportionality

F. Shilpi says, “the rule of property is not as strong as the value of life”

G. Vincent v. Lake Erie – retie the boat to a dock in the storm

Section 4: Negligence, RTT §4
I. Forms of Action
A. Early Cases:

1. Thorns (Eng 1466) 

2. Weaver v. Ward (Eng. 1616) 

3. Smith v. Stone (Eng. 1647) 

4. Gilbert v. Stone (Eng. 1647) 

5. Gibbons v. Pepper (Eng. 1695) 

B. Forms of action

1. Trespass (direct and immediate force) v. Case (indirect and consequential)

2. Trespass (tree falls and hits someone) v. Case (tree falls and someone trips on it)

3. Cases

a) Williams v. Holland

b) Scott v Shepherd: Blackstone’s minority – neither trespass nor case; b/c events don’t always fit into the forms, so forms should go away.

c) Brown v. Kendall

C. Changing legal theories – why the move from strict liability to negligence

1. Horowitz – talking about industrial revolution; wanted to support businesses who were taking chances

2. Schwartz – no, it’s not.  CA and NH don’t suggest that theory

3. Holmes – social responsibility, individualism

D. Transitional cases:

1. Rylands v. Fletcher (Next appeal) (1868) – uphold Blackburn; The CAIRNS RULE:  Natural v. non-natural use.  If ∆ had a non-natural use of the land, it’s a trespass.  Natural use is not.

2. Brown v. Collins (NH)


Handle each piece in a separate section of your answer, then move to possible defenses.

I. Duty
A. Foreseeable Π (I think for Prof. Fox’s purposes, this only applies in New York state)
1. Duties of care only owed to foreseeable Π
2. Unforeseeable Π? (Palsgraf)

a) Foreseeable Π was passenger getting on the train
b) There is negligence directed at Π1, but the result was injury to Π2.   

c) Foreseeability depends on whether we use Cardozo rule or Andrews rule

(1) Cardozo: Π2  has the burden proof that she was in the foreseeable zone of danger given that negligent act
(2) Andrews: If negligence is directed to Π1  and it negligently injures Π2  then Π2  is also a foreseeable Π to whom a duty is owed
(a) Usually, almost every single Π is foreseeable
(b) Foreseeability equation is part of proximate cause analysis

B. Applicable Standards of Care

1. There are multiple standards for different Πs, ∆s, and torts

a) What is the standard and how is it applied?

b) The Reasonable Person Standard:
(1) It is Objective

(2) Expectations of a hypothetical person with realistic traits and characteristics - ∆ will be held to that bar
(a) Mental state, age, etc.

(3) Physical characteristics are taken into account and to some extent become subjective

(a) As a reasonable person with the same physical characteristics/disabilities would act

c) The Child Standard
(1) < 4 cannot commit negligence

(a) Although, everyone is liable for intentional torts

(2) > 4 held to the average reasonable child standard of the similar age, intelligence, and experience

(a) Opposite of the reasonable person standard

(b) Unless the child engaged in adult activities

d) The Professional Standard
(1) Doctors, lawyers, athletes, etc. – held to a reasonable professional in the same industry

(a) For specialists, expertise is taken into account

e) The Common Carrier or Innkeeper Standard
(1) Can be liable for “slight negligence”
(2) But only for passengers or guests

(a) Third parties must prove full negligence

(3) Owners and Occupiers of Land (We didn’t go into much detail on this topic in Fox’s class; this is a brief overview of what was covered)

(4) Is ∆ an owner or occupier of the land or is in privity with one?

(a) Family members

(b) Employees

(5) Where did the injury occur?

(a) Undiscovered trespasser?

(b) Anyone else?

(i) What caused the injury: Action or dangerous condition?

(ii) Standard of care is governed by the type of Π?  Partially true, partially not true: mostly it hinges on causation (action or dangerous condition)
(iii) Only dangerous conditions warrant higher owner/occupier standard of care

(c) Licensee? – the condition must be known

(d) Invitee? – the condition should be known

(e) Attractive Nuisance Doctrine: in order for a child to prevail, they must show that they did not understand the risk involved

f) The Statutory Standard of Care
(1) Applies over reasonable person standard

(2) Π must fall within the protected class
(3) Statute must be designed to prevent this kind of harm

(4) If statutory standard doesn’t govern, move to another standard of care

(5) If it is satisfied, then there is negligence per se
Negligent conduct + Injury = Negligent liability

(Duty  +  breach) + (caused damage)

(a) If an applicable statute has been violated, there is a conclusive presumption of negligent conduct (do not need to prove duty and breach)

(b) Noncompliance excused if:

(i) Compliance would have been more dangerous

(ii) Impossibility

(6) Statutes and Regulations

(a) They often prescribe standards of care and define what’s reasonable, so the question is whether the statute/regulation is okay and whether a given case properly falls under it.

(b) Osborn v. McMasters (Minn. 1889) 

(c) Gorris v. Scott (Eng. 1874) 

(d) Kernan v. American Dredging

(e) Martin v. Herzog (NY 1920) 

(f) Brown v. Shyne (NY 1926) 

(g) Ross v. Hartman (DC Cir. 1943) 
(h) RST §12
2. Issues/Cases:  How do we define the reasonableness of a person?

a) Sub-standard intelligence (stupidity)

(1) Vaughan v. Menlove (Eng. 1837, 1860) – doesn’t change standard

b) Age (esp. very old and very young) – 

(1) Roberts v. Ring (MN 1919) 

(2) Daniels v. Evans (NH 1966)

c) Beginners and experts – Conduct of expert held to the standard of reasonable person who is well-qualified and has reasonable expertise.

d) Insane people/mental illness 

(1) Breunig v. American Family Insurance, Ct. does not accept a tailored standard for crazy people.  God told her to do it because god said she could fly.  

e) Physical Handicap

(1) Fletcher v. City of Aberdeen (Wash. 1959) Tailoring of reasonable person standard to a reasonable person with that same disability

f) Drunk (not a personal characteristic)

(1) Robinson v. Pinchot

g) Emergency (not a personal characteristic)

(1) Lyons v. Midnight Transportation. (Alaska 1966):  

h) Wealth (very rich or very poor)

(1) Denver

3. Custom

a) Custom as rule:  practice used by general group of folks determines the reasonable standard of care required to maintain non-negligence.  But the jury ultimately must determine whether or not the custom is reasonable.

b) Historical context – connection to industrial revolution.  They wanted to protect and react to the development of commerce and specialized industry.

c) Cases

(1) Titus v. Bradford (Pa. 1890)

(2) Mayhew v. Sullivan (Me. 1884) 

(3) T.J. Hooper (NY 1931) 

(4) U.S. Fidelity v. Jadranska (7th Cir. 1982) – Huck 

d) Medical Malpractice – a special subsection of Custom; professional negligence which is malpractice) is the failure to exercise that degree of care and skill which is exercised by reasonably well-qualified professionals in that field.

e) Cases

(1) Lama v. Borris (1st 1994) 

(2) Helling v. Carey (Wash. 1974) 

(3) Canterbury v. Spence (D.C. Cir. 1972) 

f) National Standard of Care – At some point there were deviations from standards of care for specific localities BUT NOW we are moving towards a unified standard of care.  

(1) Locality:  Small v. Howard, 

(2) Institution:  Rush v. Akron General Hospital

(3) National Standard - Brune v. Belinkoff (Mass. 1968)
g) RST §229
4. Negligent infliction of emotional distress

a) Must prove injury suffered (shock does count)

b) Within the target zone of ∆’s negligent conduct

c) Close relative, perceived the injury
d) Cases

(1) Dillon v. Legg

5. Affirmative duty to act rule

a) There is no basic duty (unless you’re in France!)

b) Exceptions:

(1) Special relationship (family, employee, etc.)

(2) Duty to control (if one has the right and the ability, and knows or should know facts that should get to you to exercise that control)

c) Duty to rescue

(1) there is no duty to rescue when you have not caused the harm

(2) RST 322, 324, 327, 315

d) Duty to warn

(1) Tarasoff

Remember, if there is an exception to the rule or if you’re basing an answer on the modern trend of courts rather than the traditional rule to govern a conclusion, start out by laying out the general rule.
C. Breach
D. Negligent conduct = did the ∆ meet the appropriate standard of care of not?

E. Res ipsa loquitor
1. Even if the Π cannot meet the burden of proof for ∆’s negligence, they can use res ipsa to show prima facie case

2. “the thing speaks for itself”

3. Probability test:

a) Act usually doesn’t occur unless someone was negligent

b) It was this ∆ (show exclusive control of instrumentality causing injury)

c) Π free from contributory negligence
4. Res ipsa just gets the prima facie case – burden shifts to ∆ - case goes to the jury (survives summary judgment and directed verdict)

5. Dean Prosser’s elements of Res Ipsa Loquitor:

a) Ordinarily doesn’t happen, absent someone’s negligence

b) Caused by an agent or instrumentality within exclusive control of ∆

c) Π didn’t contribute (although this isn’t so much of an issue anymore since we don’t really give a damn about contributory negligence)

6. Cases

a) Byrne v. Boadel (Eng. 1863) 

b) Wakelin v. London Ry (Eng. 1886) 

c) Pfaffenbach v. White Plains express Corp. 

d) Ybarra v. Spangard (Ca. 1944) 
e) RST §328D
7. Conditional Res Ipsa Loq. – if you find A, then A means res ipsa loquitor.  It’s up to the jury to find A or not A.  i.e. it’s contingent on a factual dispute.

F. Calculus of risk, determining if there was a breach or not
a) Blyth v. Birmingham Water Works (Eng. 1856)

b) US v Carroll Towing. (2nd cir. 1947) Learned Hand, J. came up with his famous formula:

(1) B = burden/cost of prevention

(2) P = probability of accident happening

(3) L = loss if it happens

(4) So PL  = cost of accident

PL < or > B

(5) So if PL > B, it would be negligent b/c it would be more efficient to invest in safety.  Look at your notes for problems.  If PL < B there wouldn’t be negligence.

c) Eckert v. LIRR

d) Cooley v. Public Service (NH 1940) 

e) Andrews v. United Airlines (9th Cir. 1994) 

2. Efficiency – if contributory negligence is an all-or-nothing deal, you’re going to have less incentive to behave reasonably (i.e. w/o negligence).  With comparative negligence, however, you have an incentive to be as careful as possible because it will mitigate your liability proportionately.

II. Causation
1. Background

2. П must prove cause was the action of the ∆

3. П must prove any fact as a matter of more probable than not

B. Multiple Tortfeasors

1. Kingston v. Chicago and N.W. Ry. (Wis. 1927)

a) multiple tortfeasors who engage in concurrent action are jointly and severally liable

b) any one of them can be held liable for the whole thing or a part of it

2. Smith v. JC Penny Co. (OR 1974)

3. Maddox v. Donaldson (Mich. 1961)

4. Summers v. Tice (CA 1948)

a) alternative liability, both jointly and severally liable (∆s can fight it out)

5. Sindell v. Abbott Laboratories (CA 1980)

a) Test for market share liability:  

(1) All names ∆s are potential tortfeasors

(2)  Products are fungible

(3) П is unable to identify which tortfeasor caused injury through no fault of own

(4) substantially all of the manufacturers which made the products have been named as ∆s

b) test only been used for DES

6. Hymowitz v. Eli Lilly Co.

a) market share is single (not joint and several liability)

7. Skipworth v. Lead Industries Association (PA 1997)

C. Cause in fact (actual causation)

1. Handle this first!  Must show causation

2. Connect breach to injury

3. “But for” test – but for ∆’s negligent conduct, would injury have occurred?

4. Substantial factor test – both ∆s caused the injury

5. Alternative cause test – (i.e. Summers v. Tice) (one of two caused injury, but we don’t know which one did it – burden of proof shifts to ∆s – if not proved, both ∆s are held negligent)
D. Proximate cause

1. Already concluded that there was negligent conduct that actually caused injury – last shot for ∆ - “too unforeseeable!”

2. Given lack of foreseeability, not proximate enough

3. Direct – unbroken chain of events between breach and injury

4. Indirect – something else intervenes between breach and injury that adds to negligent conduct to cause injury

5. 2 Rules:

a) If the result was unforeseeable, let ∆ go!
b) If the result was foreseeable, hold ∆ liable.
(1) Unless: (in an indirect cause case) if there was an unforeseeable intentional tort or crime, let ∆ go (even though the result was foreseeable)
(2) Direct cause cases are almost always foreseeable results ( .’. proximate cause)

(3) Thin skulled Π – one has to only foresee an injury, not the extent of it

6. When are negligent cause and its effects sufficiently closely connected for the law to attach responsibility?
a) Major factors: ordinary, natural, usual, expected, foreseeable
b) McGruder/Friendly (Andrews) Rule: Forseeability + Directness
(1) What was the risk foreseeable beforehand?
(2) Was the harm reasonably direct from the ∆’s negligent act?
(a) In NY, foreseeable Π
(3) What was foreseeable the moment the accident began to unfold? (Andrews)
(4) Intervening forces?
c) Polemis
(1) Baron – foreseeability, separate question re: directness
(2) Pollack – foreseeability and directness tied together (even unforeseeable causes are part of the chain, as long as they are direct)
d) Palsgraf
(1) Cardozo – foreseeable Π to whom a duty is owed
(2) Andrews dissent – foreseeability is necessary to determine directness
e) Marshall v. Nugent
(1) Magruder – relates to the risk and tracing the chain of risks/operation of risks; are the risks still unfolding from the negligent act?
f) Wagonmound 1
(1) Limited to foreseeability (discounts directness)
g) Wagonmound 2
(1) Applies foreseeability test
h) Kinsman
(1) Foreseeable consequences – melds foreseeability and directness
7. RST §§ 448, 449
III. Damages
A. Almost always, there are damages.

Section 5: Defenses to Negligence

I. Contributory Negligence

A. Knowing

B. Unknowing

1. Π doesn’t consciously encounter the risk, but does not exercise reasonable care to avoid

C. Cases:

1. Butterfield v. Forrester (Eng. 1809) 

2. Beems v. Chicago RR (Iowa 1882) 

D. Seat belt rule:  Now-a-days, there’s a regulatory response, plus we’re in a comparative negligence rule, the following case ceases to hold.

1. Derheim (Wash. 1972) 

E. Last clear chance doctrine
1. Π is contributorily negligent, ∆ had last clear chance to avoid injury, Π is forgiven earlier negligence
2. This was used to help Πs recover in contributory negligence jurisdictions; Almost obsolete in comparative negligence jurisdictions

3. Cases
a) Fuller v. Illinois Central (Miss. 1911)

(1) Davies (Eng .1842) 

b) Kumkumian v. NY (NY 1953) 

F. Historical context:  

1. Schwartz – argues that industrial revolution had nothing to do with it.  He focuses on NH and CA; doesn’t offer any competing ideas.

2. Horowitz – says courts WERE favoring industry at the time (FOX agrees with this)

3. Coase – economist perspective re: cost/benefit analysis

II. Assumption of Risk
A. 2 part test:

1. Knew of the risk

2. Voluntarily assumed the risk

B. Exceptions:

1. No other viable alternative

2. Acting in an emergency (own or someone else’s)

C. Voluntarily encountering a known risk.  That is, in the absence of any contract, the issue is whether the Π, by conduct, can be held to have voluntarily assumed the particular risk involved.  Assumption is based on Π’s knowledge, not a reasonable person standard.  (Elizabeth:  Voluntary-ness is a subjective test based on Π’s knowledge of the danger and voluntary exposure to it.  It is measured by what the Π was aware of and intended.  It’s usually determined from external manifestations (words/conduct/etc.)).

1. Primary:  When ∆ wasn’t negligent; it’s an affirmative defense that there was no breach of duty.

2. Secondary:  ∆ was negligent; so question of what, exactly, the Π’s negligence was.  (effectively, comparative negligence).

3. Cases:

a) Lamson v. American Axe (Ma. 1900) 

b) Murphy v. Steeplechase Amusement Co. (NY 1929) “The Flopper”

(1) Cardozo case

(2) П sees that people flopping on ride, he went on anyway and was injured

(3) He knew and assumed the risk, nature of the ride is thrills and spills

(4) a primary assumption of risk (no breach of duty, no jerk or padding mixed)

c) Spectator sport cases

(1) no duty to play the game differently, but the owner must build the field with care so accidents are not likely to happen (Bolton v. Stone)

(2) Meistrich v. Casino Arena Attractions Inc (NJ 1959)

(a) ice skating, too slippery ice, the expert ice skater slips and falls

(b) assumption of risk goes to actual (or should have) knowledge not reasonable person’s knowledge

(3) Marshall v. Ranne, (TX 1974)

(a) wild boar case

(b) not really a choice, therefore not an assumption of risk

(c) no assumption of risk in strict liability

d) Firemen’s (and Police) Rule

(1) when they go to work, they automatically assume risk

(2) Huck (Jadranska case)

(a) we don’t know if assumed the risk because he’s dead

4. Elements of Unreasonable Assumption of Risk

a) Voluntary

b) Knowledge

c) Was Negligence

III. Comparative Negligence
A. Still 2 types of jurisdictions; over 45 states employ comparative negligence
Note a vocabulary issue here.  If you are in a comparative negligence world, the Π is still contributorily negligent in terminology, but they are “contributorily negligent in a comparative negligence jurisdiction.”  You would not say that a Π was “comparatively negligent.”

B. Main difference = effect of Π’s negligence on the outcome

1. Contributory negligence bars recovery in a contributory negligence jurisdiction

2. Contributory negligence lowers damages in a comparative negligence jurisdiction

C. Pure comparative negligence

1. Π can recover even if they were more negligent than ∆

2. The majority of courts operate in this manner

D. Partial comparative negligence (Fox: 50/50)

1. Cannot recover if Π is more negligent than ∆

E. Note: assumption of risk is almost abolished in comparative negligence states
F. Пs risk contributes to the harm, and therefore reduces damages

a) Li v. Yellow Cab of California (CA 1975)

(1) California moves from a contributory negligence (all or nothing defense) to a pure comparative negligence system

2. Cases discusses reasons to change

a) Meritorious claims thrown out

b) Juries determining anyway (it was happening de facto)

3. Reasons to stick with contributory

a) Easier to administrate

b) Not as many issues, no need to weigh other actives

c) Greater incentives for victims to take care (but ∆s have less reason to take care)

4. Pure negligence system chosen (deduct П’s percentage of the liability)

a) As opposed to impure comparative (if П is 50% or more negligent, they get nothing)

5. No more last clear chance, no effect on assumption of risk (doesn’t effect primary and same thing as secondary)

6. Pg.372-373 various statutes on comparative negligence

a) Knight v. Jewett (CA 1992)

(1) playing rough on touch football, and П warned ∆ that she wouldn’t play if keep rough (but she does, and is injured)

(2) normal risks of game forgiven, but additional unnecessary roughness still liable for

G. Recklessness
1. Π was contributorily negligent and ∆’s conduct was reckless: in contributory negligence, Π recovers everything; In comparative negligence, the amount is still lowered according to the standard

Section 6: Strict Liability

For policy reasons, the law sees fit to hold ∆ liable even though they did nothing wrong (acted within reason)


· Here, the Π’s knowledge comes into play
· In a contributory negligence world, if there is knowing contributory negligence, this is a complete defense
· If unknowing contributory negligence, not a defense (whereas it would be a complete defense in a negligence case in a contributory negligence world)
· In a comparative negligence world, both types are offset in damages, amount dependent on the jurisdiction’s system
I. Animals
A. Dangerous animals = strict liability

B. Domestic animals = negligence standard (one free bite rule)

II. Ultrahazardous activities
A. Super duper reasonable care + + guy?  So what. 

B. Use strict liability if you cannot prove negligence

1. Conduct of ∆ is irrelevant in strict liability

2. Rylands:
a) Blackburn – if it was not otherwise there, it escapes, and there’s harm, strict liability should apply
b) Cairns – true rule – non-natural user, not customarily done, dangerous if it escapes
3. RST §§ 519, 520, 522, 523, 524
4. Spano – ultrahazardous activities = strict liability
III. Products Liability
A. Sue for negligence, strict liability, or warranty for injury sustained from a product sold by a commercial manufacturer

B. Negligence

1. Product fact pattern ( Conduct – what did ∆ do wrong?

a) Negligent design (Design defect)

b) Negligent manufacture (Manufacturing defect)

c) Negligent warranty

d) Negligent inspection

2. Who can sue?

a) Anyone within the foreseeable zone of risk, including bystanders

3. Who can be sued?

a) Almost always, manufacturers

b) Almost never, retailers or wholesalers

(1) This is a negligence suit and looks to conduct; a question of knowledge

C. Strict liability

1. Conduct becomes irrelevant

2. Unreasonably dangerous condition

3. Π: within foreseeable zone of risk
4. ∆: everybody (manufacturer, retailer, wholesaler)

a) Not based on negligent conduct, rather policy based

b) Retailer can seek indemnification from manufacturer

5. Policy concerns for enforcing strict liability in product related injuries
a) Winterbottom
b) MacPherson
c) Escola
d) McCabe v. Ligget Drug Store
e) RST 402
f) Manufacturing defect
g) RTT §§1, 2, 17

6. Product defects – Traynor: to prevent hazards and spread risks, to the extent that negligence doesn’t work, the burden is shifted to ∆ in strict liability
a) Barker rule – if the product falls below consumer expectations and is not fit for use, burden of proof shifts to ∆ for risk utility analysis (see review prob notes)
b) Volkswagon
(1) Intended use, accident-proof?, legislative function
c) Linegar
d) Barker
7. UCC §2-318
8. Duty to Warn – is this product defective without an adequate warning?
a) Ortho
b) RTT §6
Section 7: General Considerations

I. Vicarious Liability
A. Employee’s action – also find liability with employer? Respondeat superior
1. Employer liable for actions of employees committed within the scope of employment

B. Automobile owners not liable for torts of drivers

1. Exceptions:

a) Family car doctrine (household members with permission)

b) Permissive use doctrine (anyone with permission)
C. Parents are not liable for children’s actions

1. Exceptions:

a) Intentional torts with a dollar ceiling

Watch for actual negligence hiding in what may look like a vicarious liability fact pattern!

Torts Outline





Prima Facie Case = Duty + Breach + Causation + Damages





Prima Facie Case = Absolute duty to make safe + Breach + Causation + Injury








